
LANDMANN
HOME OF FIRE

EN Assembly and  operating 
instructions

FR Guide de montage  
et d’utilisation

NL Montage- en 
 gebruiksaanwijzing

© LANDMANN Germany GmbH

DE AT CH NL ES IT SE

FI DK IS EE LT LVNO

LANDMANN Germany GmbH 
Am Heisterbusch 1 
19258 Gallin 
Deutschland 
Tel: +49 40 67573 190 
E-Mail: service@landmann.de 
Website: https://landmann.de

GB IE

LANDMANN Ltd. 
Unit 6  
Blackstone Road 
Stukeley Meadows Huntingdon 
PE29 6EF  
United Kingdom 
Tel: +44 14 80 42 17 20  
E-Mail: sales@landmann.co.uk 
Website: https://landmann.com/uk

FR BE LU

LANDMANN Germany GmbH 
Bureau Commercial France 
Tel: +33 1 64 69 12 14 
E-Mail: receptionfrance@landmann.de 
Website: https://landmann.com/fr

PL CZ SK RU

LANDMANN Polska Sp. z o.o. 
ul. Kuziennicza 13b  
59-400 Jawor 
Polska 
Tel: +48 76 870 24 61 
E-Mail: landmann@landmann.pl 
Website: www.landmann.pl

HU RO BG GR SI  
HR BA RS ME

LANDMANN Hungária Kft. 
Almáskert utca 4.   
2220 Vecsés  
Hungary  
Tel: +36 29 55 50 70 
E-Mail: infohun@landmann.de 
Website: www.landmann.hu

DE Seite 1 Klappe diese Seite vor dem Lesen der Montage- und Gebrauchsanleitung auf. Auf der 
Rückseite findest du alle Abbildungen, auf die verwiesen wird.

EN Page 9 Open this page before reading the assembly and operating instructions. On the back you will 
find all the illustrations which are referred to.

FR Page 17 Déployez ce rabat avant de lire le guide de montage et d’utilisation. Vous trouverez au verso 
toutes les illustrations auxquelles il est fait référence.

NL Pagina 26 Klap deze pagina vóór het lezen van de montage- en gebruiksaanwijzing open. Op de 
achterkant vind je alle afbeeldingen waarnaar wordt verwezen.

34

CALIANO 2.0

# 22158

Montage- und  
Gebrauchsanleitung



32

33 34

B

a

a

D

b

E

b

F

C

HI

LO

OFF

G

A

x 2

4

1

25

2

7

6

3

922

10

11 12

20

18

19

14

23
13

17

8

5

16

27

26

24

21

31
28

29

30

M6 x 12
50 x 1 x

A B D E GC F

M6 x 50
4 x

M4 x 15
4 x

M8
2 x

M6
8 x

M4 x 10
4 x

15


